@

CO
grinders

Image Item no.

88895382

g\%\\{\ 44496120

{W 44493300

&. 44490200

Parts for
Neutra

Part description

Accessories Neutra Grinder
Brass barrel 4.8mm

Brass bush @17-@11

Bulk head W95/1-06

Bush for grinding wheel W95/1-02-0

inelco-grinders.com


https://inelco-grinders.com/

44491700

75492400

44494550

44490510

42500615

42500815

44491120

75522500

75494500

44492500

75492700

Carrying handle 167/103 W95/1-17

Console wi/vertical adjustment

Cover for liquid tank W95/1-45-4

Diamond disc Neutra/W95/1-05-1

Dome washer 15x%6.2

Dome washer electrode holder
W95/1-21-1

Drain plug for console W95/1-11-2

Drain/filling pipe

Dust Collector incl. liquid (UT + W95/1-45)

Elbow pipe 130mm W95/1-25

Electrode clamp 1,0mm W95/1-27

inelco-grinders.com

2/6



75492800

75492850

75492900

75492950

75493000

75493100

44496130

44492610

75491200

75491301

75491300

Electrode clamp 1,6mm W95/1-28

Electrode clamp 2,0mm W95/1-62

Electrode clamp 2,4mm W95/1-29

Electrode Clamp 3,0mm W95/1

Electrode clamp 3,2mm W95/1-30

Electrode clamp 4,0mm W95/1-31

Electrode clamp @4.8mm W95/1-61-3

Grease nippel stopper SR1

Grinding liquid 250 ml W95/1-12

Grinding Liquid Con. 250 ml

Grinding liquid conc. 3 | for 60 |

inelco-grinders.com

3/6



75491305

75494000

44496100

44492120

75491201

44491100

17809002

44491300

44470329

44490700

41512304

Grinding Liquid conc. 4,5 L for 90 liters

Grinding liquid, 5 litre W95/1-40

Handle f.electrode holder 4.8mm

Handle for electrode holder W95/1-22

Liquid disposal bottle 250mI W95/1-12-R

Machine console W95/1-11

Motor 0,18kW-240V-50Hz W95/1-1

Motor packing ring 19x30x7 W95/1-13

O-ring W95/1-11-3

Plastic Inspection Cover W95/1-07

Plate disc Rustproof g4

inelco-grinders.com

4/6



N e

Ny

14MARA G Aeaa
| Vi b g

4 A

.,m,

40210512

44492000

40320410

44493210

40310635

40320650

88895935

75493410

44493200

44491225

44492600

Recessed screw M5x12 W95/1-04

Regulation screw BT25 BM6

Retaining screw M4x10

Screw BT16P M4x16

Screw M6 W95/1-15

Screw RH M6x50 W95/1-23

Side wall seal W95/1-35

Stainless steel barrel, MKIl W95/1-34-1

T-piece W95/1-32

Tap for 5 L canister

Tapping hose W95/1-26

inelco-grinders.com

5/6



G

coO

44492100

44490140

44496000

41530520

44491000

88895900

grinders

Tread f.reg. screw W95/1-21

Tube w. white grease FDA 3g

Turning handle f.elec. W95/1-60

U-Wheel Neutra

Weather strip insp.cover W95/1-10

Working desk Neutra NE95

Klokkestgbervej 4 Tel.: (+45) 96 50 62 33
9490 Pandrup info@inelco-grinders.com

Denmark

inelco-grinders.com

6/6


https://inelco-grinders.com/
mailto:info@inelco-grinders.com

	Inelco Grinders
	Parts for Neutra


